
i Last time i

Gauss 58

213 2138

Tur Tur Papier 13817ps

bapb f bas bSp

Codazzi 54

offer YE If bsp 13ps bar

S
22 Rapp

771 Tipler 13844

QE Rsfsr Fest'h I

Fpr Taft's e

Q2 2782Pa

To answer these two questions
we introduce

tensor analysis

Brief introduction

We call

14 dr
ul ul

pi Ps

a tensor of type 1ns

if under the change of
words hi w lui ut

Tt transform as follows
pi Ps



I 4 du
ul ni

pi Ps

Mii i

Therefore

Tpf myduh duh Fu Fun

is under cards transf

I d Lr 43 k 2 As

T P Ps to Gs

tepigpajt Ritwik bagGn ETTA BY
Ias 1�3 138T

it 431HE 8417 K n Gap 8 12M
Edt ftp.T.hznfy Is

Lame Tpg IT 3GHz

tf Recall that

13ps I this III 7 GH

Ei 117 7 IE gn3s

ifzdspoII E
Else It IIs
Ins Heo II 3 g

s



I f 7 EE t ser II

go

7 so

so e hair
Mr

7 so
um

EEn gas

l s
ooo oooo

Es s a

7 site
T

29 or III e Iff ga
s

17 gon

Z od
p ou e

a Iff g 44 III
get E

Seo III g E III

If7 gotEm

Ii s

Thai III II g
d II



go got
2h4

it I i iI
d

this term in

general is not Zero

Therefore

Bf is not a

A of Lema E
tensor

Rips

72nd Tipler 13844

af

g
Raps

III III EpistreIrise
at

Z h o'ut ai S

E Kei He

lit i I
in r n
lit i I
in



I i
Otoooooo

hi i II Fateh III II
t i

to

Totoro

Tei E Fateh
t i

r t j

l i lGi
moron

ootorooooo

iii i Kai
ooooooooooo

i ai r

i it i
I

i a
mm

i ii i

00 0

in t i
m

iii I r

2



I
I

i i
n e t i i

hi II If II I
r u 4

I

r
I

u

I I
ooo

he3l aZq

Ivan niggs554Hassle'EHs4
21834a

Rsapr Ropes Raspy Rs rp

3.2 nf itht 7aI

Them it s S HE'd DI froths 4 IM to

F w wi Elwin't VK.li c D
S S Ft k ME tAFfTnI4I BY
THE 11234haHYTHE nd J s t

F Toot

of 44.7k II No ful u C D

Idu Itu

in
Lye Itu

t't t transit mu

ii Emit4g
Hit The Ehs layTHE is Fn 5TIM

IEui.inHEY GA

i e Elko To Theo

s to



I

ht's uptight Sasha8nA I 5 I 4 4k

II I A ti ki the poets8 HE'm bye

4974 Itsuki Ha I I F E To F
FIFA IZFEL
Them H'T I flip dun duP

I bapudu dnf u hi w ED

4 D 11221As Fld ETEK 9 912 821�922

bn bn bn bn DI EE 1�2 As tht digs I 9.1 9.30
CHERIE

night II 7
Tip bap bap Itisk Es g'T4 In Codazzi 54
RY V U ED THE Un As 4531 U ED HI

122 ft U As ibis P i U 1123 St

I I DIK TE I EFI Ita AIR
linear

rf Consider the following PDE system

Sifu Pa
I

bat

Thagard's

4 3144 Gigs EEHEIHEHA.at

EitaEsystiZuel2uafsap

our laws I'd per
True 2mF Leap

i
tap TBI

i
bop bpa

Gauss'THE.HR Golani'TsG

It U E D H Tfa Fa'T a F Ethan

Io Io L

fi fi

Sapho

iii e so



Consider F A't hate Bak 870

Flw PT 4417211234 E

films fi

I w fo

Ha F t IIE 45Th no 4kHz U ED sit

1 7 Ft U isTaking

F PI I FLEE Ushisas 4

za pi pop
Bst

13845.9

Tplf's I'D
bqycfp.IS

bereft if

xfgu.FI Cf's I

Kp CF I
b In TD

Z CF f
Tux 2bfcpj.IS

712 3 3

CPI Fp CPI 7 LF I
4 946

As My fajita'sGiant

IEEE Gap o I Adha4

Hak both gap ho o I 19.44

ht's In w Septal

f's F w o

c F F un I

I.fi 7 94

ft I o

ft I 7 I 1
f Ft U that Exitiatik
Int's PI 2 f Ian F wit HiFi ha Art
F Th F th't I f 7 1 I



3 BY PI bap I

Ean f th I'D 85 Haha thnx ftp.ui U

44 EEEReprs HEYHefty HothzianA

P102 1

Pie3 3 5 9

4 THESE 5HattieRI
4.1 44TGi nd

S i 41 rate Iihf F flu n'I t D 1123

ik X Gulu I SI AS 4 to Fips Chinks flu.ws

X X4w.it Fmln u l
GF K 4185 if X x'the thighs on D

DX DX F'na t X din

DX ri X'ftp.dufruptbapduln

dx X dat Rn X bpdu's

II DX Wii c DX t XPPpf dur Fun
41 i i SIGstafktb.XFD.tt Hasid

MEI V p t S DICp deep Tps ASI ITAEg

v2 DX DX t XPTgr dur
1hr1

DX DX Fna

IF DX I b'I X AHH K212 DX FYIdnr 1 479dur
Them VK.EE HC S1 Th 3 X g dnt

D CX Y DCI DCF
D Cf df It f DF tf f C D

d CE T C DI ES t CE D'T

M exercise

II C u wet SEAT HAIR

is It SI K Et t.sn pa
SIAD

ddi't 1k3g c.az g Hippo

FEI'RE dd I sina.s WAH.tk

I 2 D x'its dents
d t It Tcu wit S I AGREE

7 Xft Tna nitti vitti

da da K X'it DIII
da t Tpg Witi DIII RatharkindfIii



D X'Its DX
at

ftp.rxhtidduf ri

IF
DftI SI C zx SI tanh Dax

C SIA's 14 482

df tf xktidau.FI
D

toolbox c
d

fastest Eats

Recall that DX FYI XPFpr dur

FIT t XPTf s Eat RI ta't t't Toss

it't XT r http DX XI r dur

5k iz Ia Iz s I C ur until ZX AH SI the to Hitz

if DXLt
d

o 1248 t Xlt bCHISHEFF's

D
o e d

Tfr XP da o Hd d

Y
WH te c.djeca.si

I t t X

ODE EE't X'HI HI FDYE FAZ
47 X'It X4t Fu XI Fu InHoi wit CADET's ax

I'it iY C FIS I Ek's

if It 1

I da CEE T'D C DIII Yet texts

o

44
Ctx Hi I'it 1104243Its 7

Izzy
c Ict A Fka

4.2 424I II

S F tr th u l I kill FE
C W Wit Hy S I Ab the I II
IX C EM1057 Ans C E HIEI'st.in 12182 C

SIGI Mnf ki

Hi duty III him with diff

XE directsLH dt

du
nafta'THE dtI ffrddhf dau.it 0

Next time A Ita

444 i Ii x y it I I AI Ytalk


